Aluminium profiles
Glass opening systems for
counters and display cabinets

Ve

System 082

. Lift-up system suitable for 20mm linear double glass

NEM 082 gas-rams are located inside the front vertical
struts providing the structure with a clean and linear
esthetic

A perimetric structural frame supports the glass giving a
minimalist and elegant style to the entire display system

A full range of accessories for 90° open corners assembly
are available

Easy adaptable to all kind of exigence and environments
Top esthetic, quality and affordability

NEM 082 is a high-ranking system characterized by simple
and essential lines. It's easily suitable to butcher's shop, deli
and ice-cream shops. It finds good applications in
supermarkets and big distribution

nem s

Via Redipuglia, 16 Z.I.

34070 San Pier d'lsonzo (GO) - Italy
Tel: +39 0481 70297

Fax: +39 0481 70275

Email: nem@nemsrl.it

Web: http://www.nemsrl.it

nemsrl.it



System 082

Lift-up system suitable for
20mm linear double glass

600 (Max)

nem s

Via Redipuglia, 16 Z.I.

34070 San Pier d'Isonzo (GO) - Italy
Tel: +39 0481 70297

Fax: +39 0481 70275

Email: nem@nemsrl.it

Web: http://www.nemsrl.it

150°
] e j:/ ats 7%/ /éﬁgi
e | ( ©
- ~ Lower frame glass profile L=5200mm Cod. 082.1500
& > > s | !
4 z ! !
8
uJ w = Tappo in LDPE naturale
- 3 LDPE natural end cap
<z ~X Cod. 006.1163.00
o © \ \ Vite STEI M6x12
O =3 o S:?ew STE1 Maw12
(a %; - = > > Cod. 002.0400.00 ?
E e \@ Kit bracket frame fixing Cod. 001.0532.00
o * I \ \ 18 &h
= ) %
=2 < I I 3
< ¢
- [ [
Sx/Lt Dx/Rt Lateral seal gasket L=50m Cod. 082.0299.00
— o Cod. 082.0021 Cod. 082.0020
* Right part represented
Complete standard upright without gas spring
—7
& / Rear end cap kit Cod. 082.0043
1 ~
2 Top shelf support processed L=500Dx Cod. 082.1752 \ ﬁ
L=500Sx  Cod. 082.1753
m L=700Dx Cod. 082.1758 Dado quadro M6 V
=2 L=700Sx Cod. 08214759  gleriie
— . - Cod. 002.2007.00 /
O Vite TSPEI Méx14
m Screw TSPEI Méx14
Cod. 002.0307.00
Tappo in LDPE natural
E 15 Kg max L;%pEo:;lural ennaa 2:; :
O ¢ (L=700mm) Cod. 001.0360.00
(& * .
(7p) Crr= T ‘ ‘ . N
&l } e ‘ B / Rear end cap kit, w.top shelf stopper Cod. 082.0042
Il F [ | )
Z o A
O [ Dado quadro M6 N
= I . o (N
| |
n_ UJ | ‘ H | Vite TSPEI M6x14
| Screw TSPEI M6x14
O | HL | Cod. 002.0307.00
L

Tappo in LDPE naturale
LDPE natural end cap
Cod. 001.0360.00

nemsrl.it



	082-1 eng.pdf
	082-2 eng.pdf

